
 

 

CORRECTION - CALCUL LITTERAL 

Exercice 1 :  

𝐺 = −4 × 7 + (−4) × 𝑥 = −28 − 4𝑥 

𝐻 = 𝑥 × 6 − 𝑥 × 5𝑥 = 6𝑥 − 5𝑥2 

𝐾 = 3𝑥 × 8 − 3𝑥 × 2𝑥 = 24𝑥 − 6𝑥2 

𝐿 = −2 × 3𝑥 + (−2) × 5 = −6𝑥 − 10 

 

Exercice 2 :  

𝐴 = 𝑥 × 4 + 𝑥 × 𝑥 + 3 × 4 + 3 × 𝑥 

= 𝑥2 + 7𝑥 + 12 

𝐵 = 𝑥 × 𝑥 + 𝑥 × 4 + 2 × 𝑥 + 2 × 4 

= 𝑥2 + 6𝑥 + 8 

𝐶 = 𝑥 × 𝑥 + 𝑥 × (−2) + 1 × 𝑥 + 1 × (−2) 

= 𝑥2 − 𝑥 − 2 

𝐷 = 𝑥 × 3 + 𝑥 × (−𝑥) + 5 × 3 + 5 × (−𝑥) 

= −𝑥2 − 2𝑥 + 15 

 

Exercice 3 :  

𝐴 = 4𝑥 × 𝑥 + 4𝑥 × 3 + 5 × 𝑥 + 5 × 3 

= 4𝑥2 + 17𝑥 + 15 

𝐵 = 𝑥 × 2𝑥 + 𝑥 × 6 + 1 × 2𝑥 + 1 × 6 

= 2𝑥2 + 8𝑥 + 6 

𝐶 = 5𝑥 × 2 + 5𝑥 × (−𝑥) + 1 × 2 + 1 × (−𝑥) 

= −5𝑥2 + 9𝑥 + 2 

𝐷 = 3 × 𝑥 + 3 × (−5) + (−𝑥) × 𝑥 + (−𝑥) × (−5) 

= −𝑥2 + 8𝑥 − 15 

 

Exercice 4 : 

𝐴 = 4𝑥 × (−2𝑥) + 4𝑥 × (−5) + 3 × (−2𝑥) + 3 × (−5) = −8𝑥2 − 26𝑥 − 15 

𝐵 = 5𝑥 × 3 + 5𝑥 × (−4𝑥) + (−2) × 3 + (−2) × (−4𝑥) = −20𝑥2 + 23𝑥 − 6 

𝐶 = 5𝑥 × 2 + 5𝑥 × (−3𝑥) + 1 × 2 + 1 × (−3𝑥) = −15𝑥2 + 7𝑥 + 2 

𝐷 = (−𝑥) × 4𝑥 + (−𝑥) × (−2) + 6 × 4𝑥 + 6 × (−2) = −4𝑥2 + 26𝑥 − 12

 

Exercice 5 :  

𝐴 = 6 × (𝑥 + 𝑦) 

𝐵 = 4 × (3 − 𝑥) 

𝐶 = 𝑏 × (8 + 𝑎) 

𝐷 = 7 × (𝑐 − 4) 

 

Exercice 6 :  

𝐴 = 𝑘 × (5 + 𝑡) 

𝐵 = 𝑎 × (9 + 8) 

𝐶 = 2 × (𝑠 − 𝑤) 

𝐷 = 7(𝑏 − 𝑑) 

 

Exercice 7 :  

𝐴 = 𝑥(5 − 4 + 3) 

𝐵 = 3(𝑥 + 2) 
𝐶 = 2(𝑥2 − 2𝑥 − 3) 

𝐷 = 3𝑥(𝑥 + 2) 

 

Exercice 8 :  

𝐴 = (𝑥 + 1)(5 + 𝑥) 

𝐵 = (𝑥 − 1)[(2𝑥 + 3) + (5𝑥 − 2)] 

= (𝑥 − 1)[2𝑥 + 3 + 5𝑥 − 2] 

= (𝑥 − 1)(7𝑥 + 1) 

𝐶 = (2𝑥 − 5)[(4𝑥 − 3) − (3𝑥 − 1)] 

= (2𝑥 − 5)[4𝑥 − 3 − 3𝑥 + 1] 

= (2𝑥 − 5)(𝑥 − 2) 

𝐷 = (𝑥 + 3)[2(3𝑥 − 1) − 3(4𝑥 + 1)] 

= (𝑥 + 3)[6𝑥 − 2 − 13𝑥 − 3] 

= (𝑥 + 3)(−7𝑥 − 5) 

 

𝐸 = (𝑥 − 7)(7 − 𝑥 + 4) 

= (𝑥 − 7)(3 − 𝑥) 

𝐹 = (2𝑥 + 5)[(3𝑥 − 7) − (5𝑥 − 3)] 

= (2𝑥 + 5)[3𝑥 − 7 − 5𝑥 + 3] 

= (2𝑥 + 5)(−2𝑥 − 4) 

𝐺 = (𝑥 − 1)[(5𝑥 + 7) + (3𝑥 − 4)] 

= (𝑥 − 1)[5𝑥 + 7 + 3𝑥 − 4] 

= (𝑥 − 1)(8𝑥 + 3) 

𝐻 = (𝑥 − 5)[(3𝑥 − 2) + (𝑥 − 5)] 

= (𝑥 − 5)[3𝑥 − 2 + 𝑥 − 5] 

= (𝑥 − 5)(4𝑥 − 7) 

 



 

 

CORRECTION - CALCUL LITTERAL 

Exercice 9 :  

𝐴 = 𝑥2 + 4𝑥 + 4 

𝐵 = 𝑥2 − 6𝑥 + 9 

𝐶 = 9𝑥2 + 30𝑥 + 25 

𝐷 = 9 − 24𝑏 + 16𝑏2 

𝐸 = 𝑏2 − 14𝑏 + 49 

𝐹 = 𝑥2 − 25 

𝐺 = 16𝑏2 − 24𝑏 + 9 

𝐻 = 36 + 60𝑎 + 25𝑎2 

𝐼 = 16 − 49𝑥2 

𝐽 = 16 − 8𝑏 + 𝑏2 

 

Exercice 10 :  

𝐴 = (𝑥 − 4)(𝑥 + 4) 

𝐵 = (𝑥 − 1)(𝑥 + 1) 

𝐶 = (2 − 𝑥)(2 + 𝑥) 

𝐷 = (8 − 5𝑦)(8 + 5𝑦) 

𝐸 = (2 − 6𝑎)(2 + 6𝑎) 

𝐹 = (7𝑦 − 3)(7𝑦 + 3)

 

 


